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Definitions 

• Direct Cost is any cost that is identified, specifically with a 
particular final cost objective 
• Indirect Cost is any cost not directly identified with a 
single, final cost objective, but identified with two or more 
final cost objectives or with at least one intermediate cost 
objective   

Overhead Costs 

Cost which support a 
production function, 
e.g. Material O/H, 
Engineering O/H, 
Manufacturing O/H 
 

 

 

G&A 

Cost of doing 
business as a 
whole, e.g. 
Marketing/Sales  
Human Resource 
Accounting 
Department  
Travel 

Intermediate Service Pools 

Cost which are 
captured/managed 
separately for distribution to 
other primary pools, e.g.               
Building Insurance                           
Utilities and Rent               
Computer Services Support            
Copy Center Support 
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Charging/Recovering Costs 

•  After forming our business endeavor and subsequently  
indentifying and categorizing our costs – which costs do you 
believe are proper to recover (charge) from our customers? 
 
 

 

• How will we charge our direct costs to our customers? 
 
 

  
• Since indirect costs, by definition, benefit multiple cost 

objectives, or customers, how will we fairly charge each 
customer for their fair share of these costs? 

All of these costs, including the indirect overhead and G&A costs, are 
necessary costs of doing business and need to be recovered from our 
customers. 

With a sufficient accounting system, we can charge each customer their 
direct material and labor costs. We will have material inventory records and 
time cards identifying these costs with our individual customers and their 
jobs (contracts).  

Presenter
Presentation Notes
The last bullet leads into the following slides on how to allocate indirect costs.



Indirect Costs  

• Necessary costs of doing business 
 
• Are properly allocable to each contract that benefits from 
that cost 
 
• DCAA auditor or ACO is important to analysis 
 
• Contracting Officer’s responsibility for determining 
fairness and reasonableness  



Indirect Cost Pools  

• Logical grouping of indirect costs with a similar 
relationship 
 

–e.g. manufacturing overhead pools include indirect costs 
that are associated with manufacturing effort. What one 
contractor uses as an indirect cost rate has no bearing on 
another contractor’s rate. 



Overhead Pools 

Common Pools  Typical Cost Found in the Pool 
Material Overhead  •Purchasing costs  

• Inbound transportation 
• Indirect labor 
• Employee related expenses  
• Receiving and inspection 
• Material handling and storage 
 

Operations Overhead 
(Manufacturing, 
Engineering, Field 
Operations) 

• Indirect labor and supervision 
• Indirect material and supplies (tools, 
lubrication oils)   
• Employee related expenses (uniforms) 
• Fixed charges (depreciation, insurance, rent, 
taxes) 
• Training, conferences, technical meetings  
• Utilities 
 



G&A Pool 

Common Pools Typical Cost Found in the Pool 
G & A •General and executive office expenses 

• Staff services (legal, accounting, financial) 
• Marketing and sales expenses 
• Corporate or home office  
• Independent research and development (IR&D) 
• Bid and proposal (B&P) 
• Training, conferences, technical meetings 
• Travel expenses 
• Office supplies, stationary, printing, postage 
• Utilities 
• Other miscellaneous activities related to overall 
business operations 
 



Service Center Pool 

Common Pools  Typical Costs Found in the Pool 
Service Center • Copy center 

• Business data processing 
• Photographic services 
• Reproduction services 
• Art services 
• Communication services 
• Facility services 
• Motor pool services 
• Company aircraft services 
• Wind tunnels 
• Technical data processing services 
• Scientific computer operations 
 



Indirect Cost Allocation Base  

• Some measure of direct contractor effort that can be used 
to allocate pool costs based on benefits accrued by the 
multiple cost objectives 
 
• Examples of typical bases: 

–Direct labor hours 
–Direct labor dollars 
–Number of units produced 
–Number of machine hours 



Calculate Indirect Cost Rates 

Indirect  
Cost  
Rate 

= 
Indirect Cost Pool 

Indirect Cost Allocation Base 

Pool is always going to be $, but base can be dollars, 
hours, etc.  

 
If both pool & base are dollars, will need to multiple by 

100 to get %. 



Say you have $20M per year in engineering 
overhead costs.  

  
• How would you charge it out if you had . . . 

Presenter
Presentation Notes
The next 22 slides are layered to pace the instructor in order to give students a chance to digest all that is going on in this demonstration of a way of distributing our indirect costs (engineering overhead) to our customers in some fashion of fairness.  

The instructor may opt to use only slide #37 to discuss the concept and delete or hide the slides between Slides 14 and 37.

Following these 22 slide layers is the same example (engineering overhead), but using a different methodology to achieve the same result with the desired objective of having a way where our customers fairly share the indirect costs.  Again, the instructor may opt to use only Slide #63 and delete or hide slides #38 – 62.  
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.   
 
. 
. 

 
. 

.  
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The instructor may opt to use only Slide #63 and delete or hide slides #38 – 62. 
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This ends the layered demonstration of two ways attempting to charge each customer their fair share of indirect costs.

It compares the first method introducing the concept of having each customer being charged a fair share based on their percentage of the total business. The second method using a common allocation rate or percentage, computationally easier in development and application, achieves the same desired result of having customer pay their fair share of indirect costs.
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Base Implications on Rate 

• Optimistic Base 
• Decreases Rate 

 
• Where might Contractor use? 

– Competitive 
– Cost Reimbursable 

 
• Realism 

 

 

• Pessimistic Base 
• Increases Rate 

 
• Where might contractor use? 

– Sole Source 
– Fixed Price 

 
• Reasonableness 

R =  P 
B 

R =  P 
B 



Business Planning Process 
Typical Defense Contractor 

May Jun Jul Aug Sep Oct Nov Dec 

Executive 
Management 

Council 
Meeting 

Executive 
Management 
Analysis and 

Review 

Strategic Planning, 
Set Initial Targets, 
Goals, Objectives, 

Strategies 

Issue Guidelines, 
Assumptions, 

Resource 
Constraints 

Corporate 

Assess 
Current 

Performance 
and 

Recommend 
Goals, 

Objectives, 
Strategies 

Prepare “Preliminary” 
Plans: 
•Operational 
•Sales 
•Major Project 
•Master Delivery 
Schedule 
•Production 
•Engineering 
•Manpower 
•Marketing 
•Facilities 
•IR&D 
•B&P 
•Capital Investment 
•Financial 

Strategic 
Meetings 

Final 
Corporate 
Approval 

Business Segment 

Incorporate 
Changes 

Prepare “Final” 
Operational Plans 

Business-
Base Forecast 

Direct Labor and 
Indirect Expense 

Forecast 

Forward Pricing 
Labor, O/H and 
FCCOM Rates 

Indirect –Cost Management Guide, 3rd Ed, Oct 2001 
DCMA 



Rate Application 

Forward 
Pricing 
Rates 

Actual & 
Final 

Overhead 
Rates 

Billing 
Rates 

Estimate and 
Negotiate 

Contracts and 
EACs 

Bill and Pay 
Contracts 

Adjust 
Payments and 

Close 
Contracts 

DCMA 



Negotiated FPRA and Billing 
Rates 

DCMA 



Negotiated Final Rates 

DCMA 



Difference Between Billed and 
Actual 

Are monies due to the contractor or the Government? 

DCMA 
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